IR A5 1,820,365 M
XH#EE 1,820,365 M
ZL5IES 0H
[IRA D #E] A B B-A (BA4I: - ARDIER)
# B MEEFHE | AEETHEE 23 & %
1 & B 400,000 600,000 200,000(6.000 x 100.A
2 BERA(SNE) 40,000 50,000 10,000 EH. AR ZE - A AEDSINE
3 AR — 295,000 290,000 A 5,000
4 ¥R A 90,000 90,000 0| R R—Y AR
5 TREEX 300,000 280,000 A 20000\ fEEEIREER -EXYERTER
6 W oE e 400,000 400,000 0|BT LY
7 BHEAR 2 5 3
8 EE D 208,278 110,360 A 97918
9 R 10,000 0 A 10000\ SFSEEDFHEE
& &t 1,743,280 1,820,365 77,085
[XHDE] B B B-A
# B MEETHE | AEETHEE 23 i %
1 B 340,000 540,000 200000 S EEMLIREEFHELET
2 TREEESE 150,000 0 A 150,000
3 AR—YREE 100,000 150,000 50,000 lREXRFESE
4 S ER = 20,000 15,000 A 5000|757 RMAMMA. ETENRIE AR
5 HEBE 60,000 50,000 A 10,000|#T AN
6 B fE & 240,000 220,000 A 20,000 HPEERRMRSFH, BEEM. 700151 81F .
7 BHHEER 20,000 20,000 o|aE—Ffk. h—bUvP XEE
8 EXRHEMR 20,000 25,000 5,000
9 k B 10,000 15,000 5000 23&. XMAZFHOERK
10 EiEE 5,000 0 A 5,000
11 & 10,000 10,000 o|tEERIBBREE . RRASERZR
12 % B 5,000 5,000 0
13 ¥ % & 1,280 8,365 7,085
14 177V v-E& 672,000 672,000 0
15 REEH 90,000 90,000 o|FERIR. BEFEERRKR
& &t 1,743,280 1,820,365 77,085




